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Fetal malpresentation refers to fetal
presenting part other than vertex
and includes breech, transverse,
face, brow, and sinciput.

Malpresentations may be
identified late in pregnancy or may not
be discovered until the initial




The woman has had more than one pregnancy
There is more than one fetus in the uterus

The uterus has too much or too little amniotic
fluid °

The uterus is not normal in shape or has abnormal
growths, such as fibroids

placenta previa

The baby is preterm
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with the ischial tuberosities.



The following

points can differentiate in-between:

Face Presentation Frank Breech

The foetal mouth and malar processes The anus is on the same line with the ischial
form the apexes of a triangle. tuberosities.

The gum is felt hard through the mouth. No hard object through the anus.

The examining finger may be sucked by the The anus does not suck the finger.




Mechanism of Labour




Engagement is delayed













Management of Labour

e Mento-posterior
e First stage: as mento-anterior.

e Second stage:Wait for long anterior rotation of
the mentum 3/8 circle and the head will be
delivered as mento-anterior.During this period
oxytocin is used to compete inertia which is
common in such conditions as long as there is no
contraindication. Failure of this long rotation is
more common than in occipito-posterior position
so earlier interference is usually indicated.
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Mechanism of Labour

*  Persistent brow:

The engagement diameter is the mento-vertical
13.5 cm which is longer than any diameter of the
inlet so there is no mechanism of labour and
labour is obstructed.

*  Transient brow:
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